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20 (600 BUWLAYAL!) BUHLARLL 2 (610 240l eeiaol
ME (611 SUHE+S) SUHSLo = : (01) STOBL cel e
Ej B - A= : wee | g, s |
= A 54,000,000 | 65,000,000 | A 11,000,000
600 ZSZMLAS =< 35,509,524 | 46,509,524 | A 11,000,000
610 Z =< 29,205,176 | 46,198,986 | 216,993,810
611 SEXNMH&+< 29,205,176 | 46,198,986 | 216,993,810
01 EXHE=+4 29,205,176 | 46,198,986 | 216,993,810
O HATR U2 B2
29,205,176,000& x 14 - J|& 46,198,986,000& = 216,993,810
620 FHe+< 6,304,348 310,538 5,993,810
621 Ol Xt==< 286,609 310,538 A 23,929
01 =gO0lXt 286,609 310,538 A 23,929
O ZRHZ0IT4Y
286,609,000& x 14 - J|& 310,538,000& = 223,929
622 EtH &S+ 6,000,000 0 6,000,000
01 LetgA&EL 3 6,000,000 0 6,000,000
O Letg[Hl == 2+ 6,000,000,000& x 14l = 6,000,000
625 JIEtSE Pl 17,739 0 17,739
04 JIEtgde+< 17,739 0 17,739
O JIeggel+=< 17,739,000& x 14 = 17,739
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